Physics Challenge Question 17:  Solutions

We know from class that the specific heat capacity of water is 
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When you drop the hot substance into the cooler water, heat will flow from hot to cold.  After a long time, they will both have the same final temperature, 22.4 °C.  We know that the energy absorbed by the water must have come from the substance:
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So the water absorbs 3275 J of energy.  This energy must have come from the substance; it must have lost 3275 J of energy!
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Comparing this number to the table, the mystery substance is probably copper.
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